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Sl. No.1
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From among the four options given. choose the one which 1s a grammatically correct pair of
sentences.

(1) ‘Every family have a story. welcoming to ours’. These were the word mnscribe on gold
in the sleeve of a big. black photo album that Ananya 1s hold in her hand.

(2) ‘Every families has a story. welcome in ours’. This were the words inscribed with gold
on the sleeves of a big. black photo album that Ananya will be holding by her hand.

(3) ‘Every family had a stories. welcome to our’. These were a words inscribed in golden
on the sleeve of a big. black photo album that Ananyva was hold in her hand.

(4) ‘Every family has a story. welcome to ours’. These were the words inscribed in gold on
the sleeve of a big. black photo album that Ananya was holding in her hand.

(1) 1
(2) 2
(3) 3
(4) 4

Fefefaa 8 3 9 97 =1 I=R T FE A R 7

1 @a (2) Tai
(3) g (4) =78

i }

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11101]
2[Option ID=11102]

3[Option ID=11103]
4[Option ID=11104]

Sl. No.2
QBID:1007152

Which of the following 1s a one-word substitute for “hard but liable to break™

(B Brittle (2) Frail
(3 Tenuous (4) DMNlortal
(1) 1
(2) 2

(3) 3




(4) 4

(1) ke (2) U5
(3)  au (4) ==

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11105]
2[Option ID=11106]

3[Option ID=11107]
4[Option ID=11108]

Sl. No.3
QBID:1007153

“Because of bad weather the mountaineers are in a quandary.”
From the following options pick the correct synonym of the word in italics.
(1) Quiet (2) Panicked

(3) Anxiety {(4) Dilemma

(1) 1
(2) 2
(3) 3
(4) 4

HFH A AT G AW FE T FE B

(1) = (2) 9mE
(3) g (4) wTUEH

11
(2) 2
(3) 3
(4) 4
1[Option ID=11109]
2[Option ID=11110]

3[Option ID=11111]
4[Option ID=11112]

Sl. No.4
QBID:1007154

Which tense 1s used for habitual actions?
(1) Present progressive (2) Simple present

(3) Present perfect (4) Present perfect progressive




(1) 1
(2) 2
(3) 3
(4) 4

Fefetad # 7 wg a0t e 75 g

(1) SR 2) i
(3)  FTHEI (4)  TFFAH
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11113]
2[Option ID=11114]
3[Option ID=11115]
4[Option ID=11116]

Sl. No.5
QBID:1007155

Match List I waith List IT.

List I List IT
(Word) {(antonym)
(A) tardy (I}  warm
(B) wvalidate (II) nervous
(C) tepid (III) refute
(D)  unruffled (IV) prompt

Choose the correct anawer from the options given below :

(1) {A)-(III). (B)-(IV). (C)-(D). (D)-(II)
(2) (A)-(IV). (B)-(II). (C)-(I). (D)-(I1T)
(3) (A)-(III), (B)-(IV). (C)-(ID). (D)y-(I)
(4) {(A)-(IV). (B)-(IIL). (C)-(I). (D)-(1I)

(1) 1
(2) 2
3) 3
(4) 4




Ffeatag S+ s9aE vd 98 F9 5 e

(A)  WHE A By FEGET 6 HT

®) Tt = g o, F et

(C) 7 & UM soAfavaTE [ =R [ wifer
D) =4 =TT TE

(E) #ft #7 s w1 w72 2 artee ek

4= fgu o fawea 4 O gE I w1 999 Fifeu

(1) (A). (E). (C). (B). (D)
(2) (A). (B). (D). (E). (C)
3 (B). (C), (E), (D). (A)
(4) (C). (D). (B). (A). (E)

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=11117]
2[Option ID=11118]

3[Option ID=11119]
4[Option ID=11120]

Sl. No.6
QBID:1007156

Pick out the correctly spelt word

(1) prenunciation (2)
(3) prunniciation (4)
(1) 1
(2) 2
(3) 3

(4) 4

pronanclation

pronunclation




Hr 51 FYF for T : vF ATYHYA (Assertion (A)) % 9 ¥ fafigd # a7 g8 386 FAW (Reasons (R))

HEGH
HTHE (A) Tl G S 2 A1 T Hiars whi S SH SehE 619 9 ug) e 2
FE7 (R) FHFAT HIT I GEER FES A H WY Fa & o T 96T SR o S 2

I HYA + AT H, Fi9 5 T e § 9 58 39 0 =999 it

(1)  (A) 3 (R) TH O3 & 11 (R), (A) Fi H&l =men 2

(@ (A 3 (R)FE A 7, @ (R), (A) F = =wen 765 2
3  (A)F &, 9 (R) 78 2

4) (A ¥Ee 2, S (R) 2

1)1
(2) 2
(3) 3
4) 4
1[Option ID=11121]
2[Option ID=11122]

3[Option ID=11123]
4[Option ID=11124]

Sl. No.7
QBID:1007157

From among the four options given. choose the most appropriate sequence for the four
phrases given below. to make a meaningful sentence

(A) by chance

(B) the occurrence of something pleasant
(C) that happens unexpectedly or
(D) the word serendipity means

Choose the correct answer from the options given below :

(1) (C). (A). (B). (D)
(2) (B). (D). (A). (C)
(3) (D). (B). (C). (A4)
(4) (A). (C). (D). (B)




(3) 3

(4) 4

Ffafad 4 @ < wg a9 fofea fifsw
(A) T T g aed a2

(B) Al 99 F 9o 9 B

(C) il =& § wed) e 2|

(D) ®a ° wd 9yd i 331 AT |

(E) S 9T g 99H Sl 31 AT

= Teu U fEHedl § O O I F 999 i

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

A (A) 3 (B)
Fae (C) #1 (E)
Fad (A) 3R (D)
“as (B) 3R (D)

1[Option ID=11125]
2[Option ID=11126]
3[Option ID=11127]
4[Option ID=11128]

Sl. No.8

QBID:1007158

Identify the correct form of indirect speech of the following sentence.

The magistrate said to the lawyer. “You should submit yvour evidence now".

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

The magistrate asked the lawyer to submit his evidence then.
The magistrate told the lawver that he should submit his evidence then.
The magistrate told the lawyer that he must submit his evidence now.

The lawver requested the magistrate to subnut his evidence then.




S e S e o e e B

(1) =l (2) oTaH

(3) =W 4 fog

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11129]
2[Option ID=11130]

3[Option ID=11131]
4[Option ID=11132]

Sl. No.9
QBID:1007159

Choose the correct option to make a meaningful sentence.

Ashok did not that his friends would desert him when he would need them the
most.
(1) Assent (2) Accept
(3) Except {(4) Expect
(1) 1
(2) 2
(3) 3
(4) 4
i1 % =g g=-I1 =1 T =it
-1 11
Ei THEETE
A) == M =i
(B) 94 (IT) =Ar=nre
(C) o=. (IIT) e
(D) =3fem (IV) ===
4= fgu o fgweai 4 O uE I W 999 fifen

(1) (A)-aID), (B)-ID). (C)-aV). (D)-I)
2y  (A)-AV). (B)-(IID), (C)-(I), (D)-(II)
(3) (A1), (B)-ID. (CO)-(III). (D)-(IV)
4y (A)-dD. (B)-(D. (C)-(IV). (D)-IID)

(1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=11133]
2[Option ID=11134]
3[Option ID=11135]
4[Option ID=11136]

Sl. No.10
QBID:1007160

Choose the correct passive voice of the following sentence.
People say that children are afraid of ghosts.
(1) It has been said that children are afraid of ghosts.
(2) It 1s believed that children are afraid of zhosts.
(3) It 1= often said ghosts are afraid of children.
(4) It 1s said that children are afraid of ghosts.

1)1

(2) 2

(3) 3
(4) 4

Frefetias @ @ SERitEAT 9E=T

(A) T = G I

(B)  TI'E H HIE 9T

(C) =i =4 4 54 @

(D)  diefi St | A8 Heera

(E) M WA

Fra fou o famweat @ O oF I w1 9= Fifse

(1) a4 (A). (B) @R (E)
(2)  FaEa (B). (C) 3k (D)
(3)  Fad (A). (C) 3 (D)
@) ¥4 (A). (D) 3 (E)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11137]
2[Option ID=11138]

3[Option ID=11139]
4[Option ID=11140]

Sl. No.11
QBID:1007161




What was the name of the constituency wherefrom Jawaharlal Nehru won Lok Shabha
election thrice?

(1) Allahabad (2) Raebareli
(3) Phulpur (4) Barabanki

(1) 1
(2) 2
(3) 3
(4) 4

TEATEET AFE A SE-AE | AR S g4 A1 4R A 47

(1)  someEmR (2)  TEEE
(3) FAX (4) =HEH

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11141]
2[Option ID=11142]

3[Option ID=11143]
4[Option ID=11144]

Sl. No.12
QBID:1007162

The National Achievement Survey (NAS) in its 2021 survey stated that the national mean
score in English has :
(1) mmproved by 24 marks
(2) decreased by 56 marks
(3) has remained the same as that of the previous vear
(4) mmproved marginally
(1) 1
(2) 2

(3) 3
(4) 4

T SuEley HAEY (WR.0wE, ) 4 S 2021 % "0 § S 46 SUE § T8 5 HE -

(1) 24 37 9 =57 T 2| (2) 56 37F 92 T &
(3) Tuzs 99 % 9uE # 7 (4) =r=T e R
(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=11145]
2[Option ID=11146]
3[Option ID=11147]
4[Option ID=11148]

Sl. No.13
QBID:1007163

Swedish film director Ruben Ostlund won Palme d'Or for his film titled :

(1) The Triangular Mountain {(2) Triangle in Square

(3) Triangle of Sadness (4) Tnangle of Joy

(1) 1
(2) 2
(3) 3
(4) 4

=iz % 5" oo =e4 sAze-s 4 w1 78 T5en + v W 13 917 (Palmed'or) THRE @1 7

(1) T 2R HI5-2A (2) ZEEATA 3
(3)  TIEUATE ATE d=AH (4) ZTETATA SATF Aie
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11149]
2[Option ID=11150]
3[Option ID=11151]
4[Option ID=11152]

Sl. No.14
QBID:1007164

What is done to mask an Aadhaar Number?

(1) Replace the first four and the last four digits with characters.
(2) Replace the last eight digits with characters.

(3) Replace the first eight digits with characters.

(4) Replace the six middle digits with characters.

(1) 1
(2) 2
(3) 3
(4) 4




AT HEA T99H % few == o =i 27

(2)  AfE A FH B AW H AGEANGT F A A= 2
(3) UEel 33 W1 F I O WiGEeniea K 5 S 2
(4)  OET F T FF H A WG T e 2

1)1
(2) 2
3) 3
(4) 4
1[Option ID=11153]
2[Option ID=11154]

3[Option ID=11155]
4[Option ID=11156]

Sl. No.15
QBID:1007165

Which organization has won Nobel Prize three times?

(1) European Union
(2) International Red Cross Society
(3) United Nations

(4) National Dialogue Quartet

(1) 1
(2) 2
(3) 3
(4) 4

(1) 7= ==

(2)  HAGEEE 15 wE AEEd
(3) HIE T

(4 ™ =99 T4

(1) 1
(2) 2
(3) 3




(4) 4

1[Option ID=11157]
2[Option ID=11158]
3[Option ID=11159]
4[Option ID=11160]

Sl. No.16
QBID:1007166

Film Directors work hard and get exhausted. Prakash hates exhaustion and hence. Prakash
does not want to be a film director.

Which one of the following has the opposite logic?

(1) People who go for walk are healthy. I do not want to go for walk and I am not healthy.

(2) Politicians are generally talkative. but I am not so. though I am a politician. not by my
choice.
(3) A Soldier's life 1s full of dangers. but military 1s never short of manpower.

(4) There 1s no substitute for hard work.

(1) 1
(2) 2
(3) 3
(4) 4

Ton e 31 Hed a2 A 9 W 7| TR e H O Al B S SEeT, T (e e 6
AT =TEAT 2

i~ i~ ,z-\r 'Ei"‘ﬁ'f.:l_‘h O ."l: l‘r~ qu':l%?

(1) =7 & Z8eH 9 7 F T 7 21 # ZeeH Tl S oEal SR # = 6 R

(2) TS S HEE: S B 7, o o U TE 7| BetE | OeEias &, WA T A s
o ==

(3) U Ulw =1 SEd @Al ° 9 26l B, A 5§ B w0 Al il w1 A8 2|
(4)  ofsm =1 FE A T8 2

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=11161]

2[Option ID=11162]

3[Option ID=11163]
4[Option ID=11164]

Sl. No.17
QBID:1007167




A man walks 6 km towards the North. then turns towards his left and walks for 4 km. He
again turns left and walks for 6 km. At this point he turns to his mght and walks for 6 km.
How many km and in what direction is he from starting point?

(1) 10 km and West (2) 6 km and South
(3} 4 km and South (4) 8 km and West

(1) 1
(2) 2
(3) 3
(4) 4

uF FEHt I F AR 6 T T | 30 9 9 96 9N ge 4 el aea 21 9w e a e g 2
3R 6 Tt =iar 2| @@ 97 T ga1 2 R 6 TRt T 2| 97 @ TeE fag ° et o 2 o

i~

T HEY

(1) 10 Tt 3 afv=m (2) 6 Tl 37 =tam
(3) 4 Tt wilT ofeqm (4) 8 Tt =7 ufram
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11165]
2[Option ID=11166]
3[Option ID=11167]
4[Option ID=11168]

Sl. No.18
QBID:1007168

A.B. C. D. E. F and G are sitting in a line facing the East. C 1s the immediate right of D. B is
at an extreme end and has E as his neighbor. G is between E and F. D 1s sitting third from
the South end. Who are the persons sitting at the extreme ends?

(1) Aand E 2y AandB
(3) Fand B (d) CandD
(1) 1
(2) 2
(3) 3

(4) 4




A B.C.D.E.F 3R G Wa # foon d 4z %% v o 4 93 2| D % o= aifed C 31 B v sAf=m
W 7 At E 39%1 9=l 21 E A F & o9 5 G 21 D gianl il 9§ =@ 9 s 2| At 5w we
AR WS £ 7

(1) A3RE (2) A3RB
(3) F 3 B (4 C3RD

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=11169]
2[Option ID=11170]

3[Option ID=11171]
4[Option ID=11172]

Sl No.19
QBID:1007169

In the question statement and assumptions are given. Consider the statement and choose the
correct option on the basis of the assumptions.

Statement : The budget of Transport Corporation 1s in deficit. The Corporation has decided
to increase the ticket rates for travel.

Assumptions : (1) The travel rates are verv low.

(11) If the travel rates are not increased. deficit cannot be met.

(1) Only assumption (1) 18 impheit.
(2) Only assumption (1) 15 implicit.
(3) Both assumptions (1) and (11) are impheit.
(4) Neither assumption (1) nor (1) 1s implicit.
1)1
(2) 2
(3) 3

(4) 4




= U § T 3R qEI-9WO 4 5% 3| 9T W EER FF H-gRE F IR W ¥E =EeT # 99
rﬁlr;:”.\l

7 qftasd e = w9 g | 21| Fm S A # o fewe-ow 1 gfg # ol fen 2
TE-UEOW (1) I A aRd 74

(i) e A= # gy 7 A A, d g A
(1) e qE-awm (1) F st 2
(2)  hael TH-9EI (ii) F I 2
(3) = - (1) 3R (D) Tt 2
@) AT gE-aEm ) A A (i) -
(1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=11173]
2[Option ID=11174]
3[Option ID=11175]
4[Option ID=11176]

Sl. No.20
QBID:1007170

Ram said to Ashok that the woman standing in front of him has a grand daughter who 1s the
only daughter of myv brother. How 1= woman related to Ram?

(1) Aunt {2y Mother

(3) Wife (4) Grand Mother
(1) 1

(2) 2

(3) 3
(4) 4

T 4 FE § FE F IHF G0 @S0 OiEe # UF 9id) 2 A 9 9IS i Sheldl 591 2| 39 Higdl &1 09 9
T T 7Y

(1) == (2) =T
(3)  ue (4) =
(1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=11177]
2[Option ID=11178]
3[Option ID=11179]
4[Option ID=11180]

Sl. No.21
QBID:1007171

A tube can fill a tank completely in 18 hours. After half the tank 1s filled. one more similar
tube 1s opened. What 1s the total time taken to fill the tank completely?

(1) 13 hrs 10 min (2) 14 hrs 30 min
(3) 14 hrs 20 min (4) 13 hrs 30 min

(1) 1
(2) 2
(3) 3
(4) 4

wF Fofl UF FF B gAd: 18 02l W WAl 2| FF F AT W A % UTEI, TEF S UE 6 el |
&t | 9 BT WA | o Fel a9 T 2

(1) 13 92 10 fo9e (2) 14 92 30 {52

(3) 14 92 20 e (4) 1392 30 A=

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11181]
2[Option ID=11182]

3[Option ID=11183]
4[Option ID=11184]

Sl. No.22
QBID:1007172

Seven girls can do a piece of work in thirteen days. six boys can do the same piece of work in
twelve davs. nine men can do the same pilece of work in nine davs and six women can do the
same piece of work in fourteen days. Who are the most efficient?

(1) Girls (2) Women
(3) MMen {(4) Boys
(1) 1

(2) 2

(3) 3

(4) 4




7 SSta1 T % i 13 o7 § % whdl £ 6 w75 361 FE i 12 709 3 % W £ 9 7FY 3H1 FE w9
e g qun 6 gisene 36t F i 14 57 0 92 Ghdl 21 FIF g9d 53 77

(1) === (2) HlEem
(3) (4) =%
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=11185]
2[Option ID=11186]
3[Option ID=11187]
4[Option ID=11188]

Sl. No.23
QBID:1007173

A man and a boy received Rs. 1.600 as wages for 5 days for the work they did together. The
man's efficiency in the work was three times that of the boy. What are the daily wages of the
boy?

(1) Rs. 152 (2) Ra 112
(3) Rs. 88 (4) Rs. 80

(1) 1
(2) 2
(3) 3
(4) 4

TF FAfE AU OF FSH UF @Y 5 o7 FE FH F o g9gh €. 1,600 96 7| SA0E 2@d 95 | 7 =
oft| =5 it ufareT =1 Tl 27

(1) E, 152 2y = 112

(3) %, B8 (4) =% 80

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=11189]
2[Option ID=11190]

3[Option ID=11191]
4[Option ID=11192]

Sl. No.24
QBID:1007174




How many kg of rice at Rs. 60 per kg. must be mixed with 30 kg of rice at Rs. 25 per kg. so
that the shopkeeper may make a gain 25% on selling the mixture at Rs. 50 per kg?

(1) 22.5 ke (2) 23.5kg
(3) 24 kg (4) 245kg
(1) 1
(2) 2

(3) 3
(4) 4

30 T, =mae %, 25 WiaERan, 95 30 T =Eel WY s, 60 WA 9 e T =EE e o
TFFGR Y F1 F, 50 W R A= W 25% F A o 0

(1) 22.5 T (2)  23.5 FFm

(3) 24 T (4) 24.5 TFm

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=11193]
2[Option ID=11194]

3[Option ID=11195]
4[Option ID=11196]

Sl. No.25
QBID:1007175

A sample of X litres from a container having a 60 hitre mixture of milk and water containing
milk and water in the ratio of 2 : 3 1s replaced with pure milk so that the container will have
milk and water 1s equal proportions. What 1s the value of X?

(1) 6 litre (2) 10 hitre
(3) 30 litre (4) 12 hIitre

(1) 1
(2) 2
(3) 3
(4) 4

U G A 2 1 3 % A A WiE gu a9 9 % 60 witer Weaw # ¥ X ofiex 1 uh A, ug g9 @ 9
oo T A SR A g9 3 O IEE A9 A w1 X F A = a e

(1) 6 et (2) 10 ==
(3) 30 = (4) 12 =
(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=11197]
2[Option ID=11198]
3[Option ID=11199]
4[Option ID=11200]

Sl. No.26
QBID:1021001

According to the Protection of Children from Sexual Offenses Act, 2012 (POCS0 Act), a child
means any person helow the age of

(1) 14 years (Z) 15 years

(3) 16 years {4) 18 years

(1) 1

(2) 2

(3) 3

(4) 4

AR ST H STeRl 1 e AGEEE, 2012 (T UH2) F SIEN G H e etaias e 3

(1) 1499 (2) 159
(3) 163 (4) 18 T4

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=10201]
2[Option ID=10202]

3[Option ID=10203]
4[Option ID=10204]

Sl. No.27
QBID:1021002

Police System in India was set up by

(1) Police Act, 1860 (2) Police Act, 1861
(3) Police Act, 15862 (4) Police Act, 1863
(1) 1
(2) 2
3) 3
4) 4
A ® giera womet fraferfaa g warfua i E
(1)  gfem sAtafEm, 1860 (2) yfem sfafEm, 1861
(3)  gfem sfafEm, 1862 (4) fem sfafEm, 1863
(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=10205]
2[Option ID=10206]
3[Option ID=10207]
4[Option ID=10208]

Sl. No.28
QBID:1021003

Polygraph or Lie Detector is used by

(1) Court (2) Prison
(3) Prosecution (4) Police

(1) 1
(2) 2
(3) 3
(4) 4

aieiTE A1 SaRE (a fewm) fafafas g s e = @

(1) EIRIGE] (2) HAME
(3)  wfimEem (4) gfem

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10209]
2[Option ID=10210]

3[Option ID=10211]
4[Option ID=10212]

Sl. No.29
QBID:1021004

Juvenile Justice (Care and Protection of Children) Act, 2015 deals with

(1) Only children in need of care and protection
(2) Only children in conflict with law
(3) Both children in need of care and protection and children in conflict with law

i(4) None of the above

(1)
(2)
(3)
(4)

A W N =




ToReTR =T (SRl =i S HIE HE) A, 2015 FeteiEd | J6ihd #

(1)  ae oI vd SUE i ATETIHl 9 St
(2)  wae = EEg werE

(4)  ITI%d 9 9 g A

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=10213]
2[Option ID=10214]
3[Option ID=10215]
4[Option ID=10216]

Sl. No.30
QBID:1021005

POTA is repealed and replaced by new enactment, known as

(1) The Unlawful Activities (Prevention) Amendment Act, 2004
(2) The Unlawful Activities (Prevention) Act, 1967

(3) Maharashtra Control of Organised Crime Act, 1999

(1) None of the above

(1) 1
(2) 2
(3) 3
(4) 4

FAferEa 5 § 0 A9=0 g1 T2 % FOEE % e T AT I g 56 T e T

(1) &g ooy FEsan (FHane) genas samEEdE, 2004
()  faty fasg Frwem (Fanm) atafm, 1967
(3)  HeEmWT Tlad @wg fEEw atatm, 1999
(4)  IFFF G O Fie TH
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10217]
2[Option ID=10218]

3[Option ID=10219]
4[Option ID=10220]

Sl. No.31
QBID:1021006




Community based correction refers to

(1) Probation (2) Parole
(3) Open Prison (4) All of the above

(1) 1
(2) 2
(3) 3
(4) 4

THEE ST gur frefafas o geati g

(1)  ofEhen (2) =
(3) HAd FATH (4) ST THt

1)1
(2) 2
(3) 3
4) 4
1[Option ID=10221]
2[Option ID=10222]

3[Option ID=10223]
4[Option ID=10224]

Sl. No.32
QBID:1021007

Capital Punishment means

(1) Life imprisonment (2) 20 years imprisonment
(3) Death Penalty (4) Community service
(1) 1

(2) 2

(3) 3

(4) 4

Higeel 92 (Capital Punishment) =1 #1979 7 :

(1)  ATsiEA FrEmE (2) 20 99 T FOEE
(3) TEs (4) TEETEF
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=10225]
2[Option ID=10226]
3[Option ID=10227]
4[Option ID=10228]

Sl. No.33
QBID:1021008




Powers of arrest by police are vested in

[

(1) Code of Criminal Procedure (Cr. P.C)
(2) Indian Penal Code (I.P.C)

(3) Indian Evidence Act (I.E.A)

(4) Indian Police Act (I.LP.A)

(1) 1
(2) 2
(3) 3
(4) 4

frrartt wadt gfem i wfFmat Frafafaa & A 2

(1) =% ufean afga (di.smdid) (2) WA 28 g (. drdt)
(3)  wmEE me sfutEm (i) (4) i gfem sfufem (smdi,)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10229]
2[Option ID=10230]

3[Option ID=10231]
4[Option ID=10232]

Sl. No.34
QBID:1021009

Dowry Prohibition Act, 1961 is a

(1) Common Law (2) Special and Local Law
(3) International Law {4y All of the above

(1) 1
(2) 2
(3) 3
(4) 4

Ze9 ufauy wrfufam, 1961 2 -
(1) W= & (2) fosm va woE Fa

-

(3) HAETEE F (4) ITEa @l

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10233]
2[Option ID=10234]

3[Option ID=10235]
4[Option ID=10236]




Sl. No.35
QBID:1021010

According to Cr.P.C, police shall produce the arrested person before a court of law within

(1) 12 hours (2) 24 hours

(3) 36 hours (4) 48 hours
(1)
(2)
(3)
(4)

%S Wika "igm % sigEn giem e =afw i =mee F gea Frefafaa saf & e s 30

A W N =

Y

(1) 12 =2 (2) 2492

(3) 36 He (4) 48 92

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10237]
2[Option ID=10238]

3[Option ID=10239]
4[Option ID=10240]

Sl. No.36
QBID:1021011

The Scheduled Castes and Scheduled Tribes (Prevention of Atrocities) Act was enacted in the
year

(1) 1969 (2) 1979

(3) 1989 (4) 1999

(1) 1
(2) 2
(3) 3
(4) 4

Fgaa Afaal 3 sFEEa St (seEr Fam) stafem G ad sfatafa gt

(1) 1969 (2) 1979

(3) 1989 (4) 1999

1)1
(2) 2
3) 3
4) 4
1[Option ID=10241]
2[Option ID=10242]

3[Option ID=10243]
4[Option ID=10244]




Sl. No.37
QBID:1021012

Which Article of the Constitution deals with the provisions of equal justice and free legal aid?

(1) Article 69A (2) Article H9A
(3) Article 49A (4)  Article 39A

(1) 1
(2) 2
(3) 3
(4) 4

TG # A T SS9 g9 = U9 (36 FIEH TEEaT & SUEd § derad 87

() =3 697T (2) =g 59T
(3) =TT (4) =7 39T
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=10245]
2[Option ID=10246]
3[Option ID=10247]
4[Option ID=10248]

Sl. No.38
QBID:1021013

Which of the following Court may grant anticipatory bail under section 438 of the Code of
Criminal Procedure?

(1) The Session Court (2) The Village Court

(3) The Family Court (4) The Fast Track Court

(1) 1

(2) 2

(3) 3

(4) 4

7% ufskan =igm $i 90 438 % g Fe=fafaa § 9 S99 @ =mEeE sfm 99w = g6a 27

(1) @ (849F) =EeE (2) UM =

(3)  Fea AEEd (1) W ¢ EEE

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=10249]
2[Option ID=10250]




3[Option ID=10251]
4[Option ID=10252]

Sl. No.39
QBID:1021014

Which of the following Article of the Indian Constitution provides Rule against double
jeopardy?

(1) Article 14(2) (2) Article 21(A)

(3) Article 22(2) (4) Article 20(3)

(1) 1
(2) 2
(3) 3
(4) 4

A A #1 Fetiad § |8 A @ s o B9 & [Geg (99 UH w27

(1) s 14 (2) 2 =8 21 (1)
(3)  #F=as 22 (2) (4) ¥F=37 20 (3)
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=10253]
2[Option ID=10254]
3[Option ID=10255]
4[Option ID=10256]

Sl. No.40
QBID:1021015

A child below 18 years who violates the law is known as

(1) Child in conflict with law (2) Neglected child
(3) Truant (4) MNone of the above

(1) 1
(2) 2
3) 3
(4) 4

18 a9 O 4 35 F GF Al Fl T I TeeTEA Al T:* g Facdidl ‘;* ;

(1) Tatg faeg o= (2) U weE

(3)  FA=EAT (4) U g ° FE T8
(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=10257]
2[Option ID=10258]




3[Option ID=10259]
4[Option ID=10260]

Sl. No.41
QBID:1021016

Which one of the following is NOT a type of cybercrime?

(1) Data theft (2) Forgery

(3) Damage to data and svstems (4) Installing antivirus for protection

(1) 1
(2) 2
3) 3
(4) 4

frfafias 4 9 =9 @1 g5 ooy =6 87

(1) s HEd (2) &2 =
(3) =1 i fawew =i afd wgar (4) =& % fou wEmEE =eia w0

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10261]
2[Option ID=10262]

3[Option ID=10263]
4[Option ID=10264]

Sl. No.42
QBID:1021017

The Code of Criminal Procedure (Cr.P.C) was last amended in
(1) 1973 (2) 1983

(3) 1993 (4) 2003

(1) 1

(2) 2

(3) 3

(4) 4

%% Uik afean (di.arf8.) ifow aw fFm o Fwifaa g A7

(1) 1973 (2) 1983

(3) 1993 (4) 2003

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=10265]
2[Option ID=10266]




3[Option ID=10267]
4[Option ID=10268]

Sl. No.43
QBID:1021018

What is the purpose of Sexual Harassment of Women at Workplace (Prevention, Prohibition
and Redressal) Act 20137

(1) Provide protection against sexual harassment of women at workplace

(2) Prevention and redressal of complaints of sexual harassment

(3) Both (1) and (2) above

(4) MNone of the above

(1) 1
(2) 2
3) 3
(4) 4

IEeT#T = FIEESE W AN IcdisA (FaEm, uiauy 317 qiaam) SA=Eq, 2013 =0 35579 397 2 7

(1)  H\izen=l =1 FEEE T A0 309154 &+ (a6 T80 TeH F4d1 2
(3)  ITuE (1) 3R (2) gM

(4) STEFAH H F5 A4

(1) 1

(2) 2

(3) 3
(4) 4

1[Option ID=10269]
2[Option ID=10270]
3[Option ID=10271]
4[Option ID=10272]

Sl. No.44
QBID:1021019

Dying declaration is to be preferably recorded by

(1) Police (2) Magistrate
(3) Prosecutor (4) Forensic Expert
(1) 1
(2) 2
(3) 3
(4) 4
gegeiers Hee Fefofaa 3§ & feas g sftmma: 2o &t ot =ifee
(1) gfe= (2) wfaee
(3)  whE (4) iifee s

(1) 1




(2) 2
(3) 3
(4) 4
1[Option ID=10273]
2[Option ID=10274]

3[Option ID=10275]
4[Option ID=10276]

Sl. No.45
QBID:1021020

The Narcotic Drugs and Psychotropic Substances Act, 1985 is a

(1) Central Legislation (2) State Legislation
(3) Inter — State Legislation (4) All of the above

(1) 1
(2) 2
(3) 3
(4) 4

9 MY FH A WWET 99 sAaEEE, 1985 #
()  Fm = (2) T fum

-

(3) Fa-T=g HaE (4) IWrEa g4t

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=10277]
2[Option ID=10278]

3[Option ID=10279]
4[Option ID=10280]

Sl. No.46
QBID:1021021

Section 300 of Indian Penal Code deals with

(1) Rape (2) Murder
(3) Theft (4) Unlawful assembly

(1) 1
(2) 2
(3) 3
(4) 4

R 53 dfear i gm0 300 Fetefas S s =@ @

(1) TEATRN, | FeATedT ) (2) wem
(3) =il (4) fafy faeg s
(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=10281]
2[Option ID=10282]
3[Option ID=10283]
4[Option ID=10284]

Sl. No.47

QBID:1021022

Murder 1s confirmed when

(1)
(2)
(3)
(4)

(1) 1
(2) 2
3) 3
(4) 4

Actions are in obedience to the law
Actions when done 1n lawful exercise
Action committed with intention of causing loss

None of the above

FoaT =i g ETAl 2 T

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

FHaTE Tt # e # 6T 2
FRATE &Y T59d =98N % =9 § # E 2
#T T % 35574 O FE A T A

I | H i Al

1[Option ID=10285]
2[Option ID=10286]
3[Option ID=10287]
4[Option ID=10288]

Sl. No.48

QBID:1021023




Given below are two statements :

Statement I: Santhanam Committee was formulated for the purpose of prevention of
corruption

Statement II: Santhanam Committee was appointed by Lal Bahadur Shastri.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement IT are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I 1= correct but Statement II 1s incorrect
(4) Statement I 1= incorrect but Statement II 1s correct
(1) 1
(2) 2
(3) 3
(4) 4
g e feum g .

w1 :  guEm gl yemn FEr % 3ggza @ s i

o I1:  Hyww |faf ama sag el 3 fga 6 o4

ITIE FYF & A 4, 4= B m fawen § 8 999 3ugEa I 1 =99 Sifw

(1) FFIsRIZHE 99
(2) e [ AW [ 591 36 &
(3) = [ o9 &, A &9 [ 375 &
(1) Fud [ FEE 2, A sga (185 &
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10289]
2[Option ID=10290]

3[Option ID=10291]
4[Option ID=10292]

Sl. No.49
QBID:1021024




Which committee submitted the report on crime syndicate, nexus between underworld and
politicians in 19937
(1) MN.N. Vohra Committee (2) Justice Malimath Committee

(3) Justice Goswamy Committee (4) Justice J.5. Verma Committee

(1)
(2)
(3)
(4)

A W N =

a9 1993 H HAgEes AR TSI % HYI @eS Sedl A9y Eishe W e 9 o uieass e
= .
4T U7

(1)  vA.54, arE " (2) FFEem wEmY @it
(3)  feem T A (4) FfeH .78, 951 HiEE
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=10293]
2[Option ID=10294]
3[Option ID=10295]
4[Option ID=10296]

Sl. No.50
QBID:1021025

Which among the following issue is dealt in Dhananjoy Chatterjee Vs State of West Bengal
(1994)?

(1) Rape and Murder of young girl

(2) Kidnapping of a young girl

(3) Selling of a young girl for the purpose of prostitution

(4) Illegal organ trade

(1) 1
(2) 2
(3) 3
(4) 4

gF=F TS S Ivas S 799 (1994) Fefahas 8 ° B 9w | gatad 27

(1)  F=l =1 SRR T wedl (2)  Fad F AT
(3)  AVAM % STA H AAA Al H T (4) AT AT =R
(1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=10297]
2[Option ID=10298]
3[Option ID=10299]
4[Option ID=10300]

Sl. No.51
QBID:1021026

Brown sugar is a

(1) Narcotic drug
(3)

Syndicate
(1) 1
(2) 2
(3) 3
4) 4

34 ITFH TF

(2) Virus
(4)

Weapon

= Ty

(1)

(3)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10301]
2[Option ID=10302]

3[Option ID=10303]
4[Option ID=10304]

(2)

Sl. No.52
QBID:1021027

Where is the International Court of Justice situated?

Paris

(1)
(3)

Geneva

(1) 1
(2) 2
(3) 3
(4) 4

[ =gl
A= AEEE Fal T

(1)  ufm
(3) ST
(1) 1
(2) 2
3) 3

(4) 4

Washington DC
Hague

(2)
(4)

-T'l.‘.-
=




1[Option ID=10305]
2[Option ID=10306]
3[Option ID=10307]
4[Option ID=10308]

Sl. No.53
QBID:1021028

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A) : Neglected children are sent to Child Welfare Committee (CWC).

Reasons (R) : Neglected children are kept in Juvenile Home for their care and protection

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) iz NOT the correct explanation of (A)
(3) (A) is true but (R) is false

i(4) (A) is false but (R) is true

(1) 1
(2) 2
(3) 3
(4) 4

fi= 3t #u= g o & ;v sl (Assertion A) % ¥4 # fafea 2 @1 790 39% FW9 (Reason R) %

FH -

Afirred (A) Fuferd =Tk =1er wea wfta (6t g =) F o a5 9 )
10 (R) : TJufera STerehi 1 ITH JEE UE E B TR | T A
3T F9E & A 4, T 50 T e § 8 9w 3ugE w1 99 Fife

(1) (A) 3R (R) 3 8 7 3l (R), (A) i we = 2

(2) (A 3 (R)FF 7S &, A6 (R), (A) F & =men 76 7

(3) (M) T g, AR (R) 58 2

(4)  (A) 3= 2, @ (R) 59 &

(1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=10309]
2[Option ID=10310]
3[Option ID=10311]
4[Option ID=10312]

Sl. No.54
QBID:1021029

Verbal abuse, emotional abuse and sexual abuse are dealt in:

(1) Indian Evidence Act, 1872
(2) Code of Criminal Procedure, 1973
(3) IT Act, 2000
(4) Protection of Women from Domestic Violence Act, 2005
(1) 1
(2) 2
(3) 3
(4) 4
M= FATER, HAFATHT GoAaeR UA Afe qeaaen (teiad # § fFes gafa 27
(1)  wwem e sfafem, 1872 (2) &S Wik |hean, 1973
(3)  F= R (e &) wfafem, 2000 (4) =i fEmn @ wfeen swaw sfafEm, 2005
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=10313]
2[Option ID=10314]
3[Option ID=10315]
4[Option ID=10316]

Sl. No.55
QBID:1021030

The Protection of Human Rights Act was enacted in which year?
(1) 1996 (Z) 1993
(3) 1990 (4) 2000

(1) 1

(2) 2

(3) 3

(4) 4

Aa R s sttt e ad sifatmtea gan?

(1) 1996 (2) 1993
(3) 1990 (4) 2000
(1) 1
(2) 2

(3) 3




(4) 4

1[Option ID=10317]
2[Option ID=10318]
3[Option ID=10319]
4[Option ID=10320]

Sl. No.56
QBID:1021031

Aarushi Talwar murder case was reported from which of the following place?

(1) Chandigarh (2) Jharkhand
(3) Noida (4) Ranchi

(1) 1
(2) 2
(3) 3
(4) 4

TN deran Het *8 fefefad F § € &g 9 oo fean man?
(1) =E=re (2) wmEvE

(3)  AmE (4) T
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10321]
2[Option ID=10322]

3[Option ID=10323]
4[Option ID=10324]

Sl. No.57
QBID:1021032

White collar erimes are committed by
(1) Labourers (2) Farmers

(3) Socially respected and powered (4) Children

(1) 1
(2) 2
(3) 3
(4) 4

The 9 S etAtgd 8 ° e g e AW E 7
{1:' : r-rr —;_;Tr[
(2) ERE RN
(3)  TENSF =9 ° TEEa ©F Ifad 999 S grl

(4) == g




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10325]
2[Option ID=10326]

3[Option ID=10327]
4[Option ID=10328]

Sl. No.58
QBID:1021033

Forensic Entomology is the study of

(1) Body fluids (2) Flowers
(3) Insects (4) Reptiles

(1) 1
(2) 2
(3) 3
(4) 4

wifar ueHiet fefafan 9 o e ssm 27

(1)  ifes g3 (2) =
(3) e (4) =gy

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=10329]
2[Option ID=10330]

3[Option ID=10331]
4[Option ID=10332]

Sl. No.59
QBID:1021034

Which section among the following deals with First Information Report?

(1) Section 154 of CrPC (2) Section 154 of IPC
(3) Section 173 of CrPC (4) Section 164 of CrPC
(1) 1
(2) 2
(3) 3
(4) 4
To 3en fE (% @ o) Fefatas 9 e g @ gafie 27
(1) =8 sk afgan i 9mT 154 (2) oA 58 Giear 6l 96 154
(3) = wiskan gfgan 61 amr 173 (4) ¥s i Gfgan $1 9m 164

(1) 1




(2) 2
(3) 3
(4) 4
1[Option ID=10333]
2[Option ID=10334]

3[Option ID=10335]
4[Option ID=10336]

Sl. No.60
QBID:1021035

Which among the following case relates to 2G spectrum?

(1) Chemicals (2) Sugarcane

(3) Fertilizers (4) Telecom

(1) 1
(2) 2
(3) 3
(4) 4

. > - O SO AR e 3
2 S TIFEH FH FEEnEd | § R g w

(1) @ (2) T=m
(3) AT (4) el

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=10337]
2[Option ID=10338]

3[Option ID=10339]
4[Option ID=10340]

Sl. No.61
QBID:1021036

Harshad Mehta case (1992) is popularly known as
(1) The securities scam (2) Bond Paper scam

(3) IPL scam {4y Cobbler scam

(1) 1
(2) 2
(3) 3
(4) 4
#9g HEar +8 (1992) oW ot w F=fafas 4 8 fre 9§ w9 o &

(1)  wiagf gemen (2) = Y9 =Gieren
(3) #13 f ue Hiewen (4) e =T




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10341]
2[Option ID=10342]

3[Option ID=10343]
4[Option ID=10344]

Sl. No.62
QBID:1021037

Which authority can grant Parole to offenders?

(1) Court (2) Police
(3) Prison authority (4) Lawyers

(1) 1
(2) 2
(3) 3
(4) 4

st st S i wolt 1 an wifber seE R wwar 87

(1) =meE (2) gfem
(3)  HEEE ATEEET (4) =ty

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10345]
2[Option ID=10346]

3[Option ID=10347]
4[Option ID=10348]

Sl. No.63
QBID:1021038

Dactvloscopy deals with the

(1) Study of body odour (2) Study of fingerprints
(3) Study of ear prints (4) Study of lip prints
(1) 1
(2) 2
(3) 3
(4) 4

sfFearenndt frafafas © o o gafim 27

(1) I 79 =1 A= (2) @M =1 S

(3)  FW@T H T (4) A= HATA

(1) 1




(2) 2
(3) 3
(4) 4
1[Option ID=10349]
2[Option ID=10350]

3[Option ID=10351]
4[Option ID=10352]

Sl. No.64
QBID:1021039

Which among the following 1s the highest Court in India?

(1) Session Court (2) Supreme Court
(3) High Court (4) Dstrict Court

(1)
(2)
(3)
(4)

A W N =

T=fetlaa 5 & 9rd § F =2 = iy wE WA

(1) = = (2) F=aE =
(3) = e (4) faen =
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=10353]
2[Option ID=10354]
3[Option ID=10355]
4[Option ID=10356]

Sl. No.65
QBID:1021040

Which of the following Act was enacted for the better protection of human rights and for
matters connected therewith?

(1) The Protection of Human Rights Aet, 1993

(2) Juvenile Justice (Care and Protection of Children) Act, 2015

(3) The Criminal Law (Amendment) Bill, 2018

(4) The Companies (Amendment) Act, 2020

(1) 1
(2) 2
(3) 3
(4) 4




WA H AHATAHR] Hag AHel & Saw SLa g (et § 9 #1991 Atatem statafa fFmom a?

(1)  FHaTRr S sfafEm 1993

(2)  Trein = (e i SEiE Hi g wtatEE 2015
(3) =s fafy (d=iem) frdees, 2018

(4) = (FEeE) sifafEm, 2020

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10357]
2[Option ID=10358]

3[Option ID=10359]
4[Option ID=10360]

Sl. No.66
QBID:1021041

(Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A): Fundamental Rights are the basic human rights enshrined in the

Constitution.

Reason (R) : Fundamental Rights are not enforceable by the courts

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

(1) 1
(2) 2
3) 3
(4) 4




fi 31 o fqw 10 € : uF AfEeA (Assertion (A)) % ®9 # fafiga @ @1 790 389% F01 (Reason (R))
FETH

AR (A) : wHifer wifuesn wfam # sfasifi 9@ 7 wfuwn £

1 (R) : wHifer Afer =l g yaa-E 6w ol

ITR FH & A 4, 4 Eu o few § @ 99w 39gsa I % =99 i
(1) (A) ¥R (R) 3 5 & 3 (R), (A) Fi =& =aren 2

(2)  (A) 3R (R)FFA & &, A (R), (A) F & = T4 8

(3) (A= &, 9f (R) 7€ 4 2

(4 (A) =8 &, & R) w6 2

1)1
(2) 2
3) 3
(4) 4
1[Option ID=10361]
2[Option ID=10362]

3[Option ID=10363]
4[Option ID=10364]

Sl. No.67
QBID:1021042

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.
Assertion (A):  The primary role of police is to protect VIPz and human security
Reason (R) : Police system derives its authority from Police Act 1961 and various other

state legislations as it is a state subject.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(1) (A) is not correct but (R) is correct

(1) 1
(2) 2
(3) 3
(4) 4




= 71 #em fGu Tu & : v sAfeETA (Assertion (A)) % ®9 # fafiaa & 91 780 39% F00 (Reason (R))

FETH :

#fR (A) 1 HEea sAta (F og o) 1 e i gee guen gfaw w5 et afee 2

0 (R) : =7 fava w9 % T e saEen o witer gferm sifatEm, 1961 siw i e
T fauEt gRT W w2

IR FYA F AT 5, 49 B e e § 3 g9 3ugsm I 99 fifm

(1) (A)si (R) 3 @ & 3t (R), (A) 1 &l =amen 2

(2) (A 3R R) T &9 &, A (R), (A) i & oawen 76 @

(3) (A& g, «ifF (R) & 7€ &

(4) (A =R TE R, @ R) w2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10365]
2[Option ID=10366]

3[Option ID=10367]
4[Option ID=10368]

Sl. No.68
QBID:1021043




Given below are two statements : One 12 labelled as Assertion A and the other 1z labelled as

Reason R.

Assertion (A) : The Protection of Children from Sexual Offences Act, 2012 has been drafted
to strengthen the legal provisions for the protection of children from sexual

abuse and exploitation.

Reazon (R) : The POCSO0 Act. provides for stringent punishments. which have NOT been

graded as per the gravity of the offence.

In the hight of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 18 correct but (R) 1s not correct

(4) (A) 12 not correct but (R) 1s correct

(1) 1
(2) 2
(3) 3
(4) 4

i g1 o faw 1w # : vF AfeA (Assertion (A)) % ®9 # fafiga @ @1 790 39% F01 (Reason (R))
FEIF

A (A): T S0 § A F aE AfufEm, 2012 A gEEm o R g 8 a6
e % fou fafys sl i geg + & fow wsfia e w2

F1 (R) : wiFE ATaEE, 3 STyl & U w3 48 9gE = g, @ g0y i i & sHEn
ffea 74 7w 3

I FIF F EF 9, A G T T § F gaE 39gw I F 99 Hig
(1) (A) 3R (R)ZF &6 & 3R (R), (A) 1 =& =0 §

(2)  (A) SR (R) ZF &6 &, iR (R), (A) i @l sare T8 &

(3)  (A) @ &, @A (R) @l 7€ &

(49 (A)@d 7€ &, @A (R) Tl &

(1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=10369]
2[Option ID=10370]
3[Option ID=10371]
4[Option ID=10372]

Sl. No.69
QBID:1021044

Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as

Reazon ER.

Assertion (A):  There should be preliminarv enquiry in the registration of FIR in cases of
crimes against SCs/STs.

Reason (R) : In police stations located in areas with substantial population of SCs/STs.

proper representation must be given to SC/ST police personnel to gain the

confidence of SC/ST community.

In the light of the above statement. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)

(3) (A) 1= correct but (R) 1s not correct
(4) (A) 18 not correct but (R) 1s correct
(1) 1
(2) 2
(3) 3

(4) 4




fi=t 2t #u= fau Mo B : wF Afrwea (Assertion (A)) % ¥ # fafam 8 @ g0 39% FW91 (Reason (R))

%E‘Jﬁ:

AlFI (A) - A faal i g Setaa & g o & amel § v g e
(T 1% W) = et 1 A FE 74 =)

#1 (R) : s Wit | SRl el S e e are a3 st giem w2eE
o\ /) va # g w1 Gvam afie #69 % fou o @t [ @ & afem s =
wfaa wfafifie smavas &9 & wg@ e =ifzu)

ITE F24 & A A, J o M e #§ F 999 30 I # =99 Sl
(1) (A) 3R (R) 2F @& & 3 (R), (A) i 58t =men 2

(2)  (A) 3R (R)FH & E, TR (R), (A) F1 a6 = 71 8

(3) (M) FA R, @ (R) & T &

(1) (A= T R, @A (R) & &

1)1
(2) 2
3) 3
(4) 4
1[Option ID=10373]
2[Option ID=10374]

3[Option ID=10375]
4[Option ID=10376]

Sl. No.70
QBID:1021045




Given below are two statements : One iz labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A):  According to the latest report by The WNational Family Health Survey
(NFHS) 29.53% married Indian women between the ages of 18-49 years have

faced domestic violence /or sexual vielence.

Reason (R) : Violence in a marriage doesn't always present itself overnight. There are

many warning signs before the actual act of violence takes place.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3 (A) is correct but (R) is not correct
(4) (A) 18 not correct but (R) iz correct
(1) 1
(2) 2

(3) 3
(4) 4

1= 21 #9a ffu 7w 2 : vF wfiEeE (Assertion (A) % &9 # fofiaa 2 a1 780 39% F9 (Reason (R))
FETH

e (A) T TiEn F=e Jhe (U UF U9 UE) i 7Ene fuE § SHEn 18-49 96 A &
aer #1 29.3% faafeq wdm afeensii 3 wieg fm | Sfes T = @ a2

#F101 (R) : faanfea faa d fmn |49 vai-Ta 78 @i 21 97 9 & awafas $0 & afea @4 =
F FE SaEt Ga 2 2

ST 9 F S #, T B 7 feedt § & @l s9gw s # =9 i
(1)  (A) 3 (R) 3F &4 & 3 (R), (A) 1 961 =me &

(2) (&) SR (R) ZF & &, SR (R), (A) F =&l =men 7€ g

(3)  (A)@E &, A (R) 761 H 2

(4 (A)@d 7€ &, 9 (R) Tl &

(1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=10377]
2[Option ID=10378]
3[Option ID=10379]
4[Option ID=10380]

Sl. No.71
QBID:1021046

Given below are two statements :

Statement I : The Juvenile Justice (Care and Protection of Children) Act. 2015 defines
juvenile as a child below the age of eighteen yvears.

Statement II: “Corporal Pumishment" to a child is prohibited under this law.

In the hight of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are not correct
(3) Statement I 1s correct but Statement II 1s not correct
(4) Statement I 1s not correct but Statement IT 1s correct
(1) 1
(2) 2
(3) 3
(4) 4
drr g1 o feg e #

F1: TR = (e f gEee s ) sifafEm, 2015 F SgEn e & aed senE a6
T FH A F e J 2

wuq I1: 39 fafa = siarta feel smors =1 wdifes 22 Ffg 2

IR FYF &+ A 4, 9 B M fawew § @ g9d 3ugEa I # =9 it

(1) @A [ &R 1M =8 &
(2) @ [ 3R I gH1 e &
(3)  =ua [ =dl 2, wife w94 11 ea 2
(4)  FoF [ 7ea &, oA w1198 #

(1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=10381]
2[Option ID=10382]
3[Option ID=10383]
4[Option ID=10384]

Sl. No.72
QBID:1021047

Given below are two statements :

Statement I:  Parole 1s meant only for the under-trial prisoners.

Statement II: Parcle 1z designed to help the prizoner meet his’her emergent social
obligations.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement IT are correct
(2) Both Statement I and Statement II are not correct
(3) Statement I 1s correct but Statement II 1s not correct
(4) Statement I 1s not correct but Statement II 1s correct
(1) 1
(2) 2
(3) 3
(4) 4
ARG wE R mE .

F 1. U Fad faarondE afea & oo g 21

FT I1: St = A9 AT AT it i I F 7§ TEEar ag el A 2|

3T FYF & A §, 9= e 8 8 999 vy I 1 =99 it

(1) " [ &R [ <F =8 &
(2) w3 126 7ea &
(3) e 1= 2, St = 11 7T 2
(4) %A 17 B, S ®em 11O 2

(1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=10385]
2[Option ID=10386]
3[Option ID=10387]
4[Option ID=10388]

Sl. No.73
QBID:1021048

Given below are two statements :

Statement I:  The ‘Broken Windows Theory’ emphasizes on maintaining and monitoring
urban environments to create an atmosphere of order.

Statement IT: This would help police prevent more serious crimes from happening.

In the hight of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement IT are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but Statement II 1s incorrect
(4) Statement I 1s incorrect but Statement II is correct
(1) 1
(2) 2
(3) 3
(4) 4
dr 71 e feu o #

FAL: w9 wed fage (F fast @) seen % i #i gfem +6 #g T TE T
TEYA Ud @ - T A 4 2

Fod 11: 77 sifash T s 1 afed 24 & T J gferm * foo e 2

3T F94 & A 4, 9 Bu v e 7 ¥ 99w IugE o w1 59 Fifa

(1) === 1o 11 g1 =& 8
(2) @ 1 R 11 ZE1 7ea &
(3)  =u= 1= 2, wife w9a I e 2
(4)  ==a 17 ®, A &= 1194 &




1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10389]
2[Option ID=10390]

3[Option ID=10391]
4[Option ID=10392]

Sl. No.74
QBID:1021049

Given below are two statements :
Statement [ :  Central jails have higher capacity of inmates than other categories of jails.
Statement Il :  These jails are functioning under the control of Central Government.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement 11 are correct
(2) Both Statement [ and Statement 11 are incorrect
(3) Statement [ is correct but Statement I1 is incorrect
(4) Statement [ is incorrect but Statement 11 is correct
(1) 1
(2) 2
(3) 3
(4) 4
feg s feum g .

FHa 1 FEOHE S F= A0 $ e 5 FAE ° a3 H9a g4l 2l

F94 [[: 3 SANE $g G0N & 9901 % Haid g=ried 2

3T F94 & A 4, 9 Bu 0 e § 9 I I # =99 Hit

(1) == [ 3R 11 gA1 o4 §
(2) %9 [ 3R 11 3H1 Tea &
(3) w1 9el 8, A w11 e @
(4) %9 [ 7o &, Al Fom 1198 2




(3) 3
(4) 4

1[Option ID=10393]
2[Option ID=10394]
3[Option ID=10395]
4[Option ID=10396]

Sl. No.75
QBID:1021050

(Given below are two statements :

Statement [ :  Crime in India Report defines crime rate (Crime incidence per 100,000 of
population).

Statement [I:  This Report is published by the National Crime Records Bureau.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement 11 are correct
(2) Both Statement I and Statement IT are incorrect
(3) Statement [ is correct but Statement I1 is incorrect
(4) Statement [ is incorrect but Statement IT is correct
(1) 1
(2) 2
(3) 3
(4) 4
A 51 e Eu o

FA1:  9va § sy o, sy =t (9fE 1,00,000 S W ot w2) = Pl w2

w9 11: 9% foe o sy feamrsa =gt g wefsm i St 2

ITE FU & A 4, 9 Bu T D § @ a9 IwE 3w & 99 Fife

(1) == 13 126 4 &
(2)  ®F 1 &R 11 2H Tad &
(3)  wF (o &, =i %o [ e 2
(1)  FuF 174 &, AT F29 1196 &

(1) 1
(2) 2
(3) 3




(4) 4

1[Option ID=10397]
2[Option ID=10398]
3[Option ID=10399]
4[Option ID=10400]

Sl. No.76
QBID:1021051

Given below are two statements :

Statement [:  “Human rights” means the rights relating to life, liberty, equality and
dignity of the individual guaranteed under the Constitution or embodied in
the International Covenants and enforceable by courts in India.

Statement Il :  This definition is provided in Article 21 of the Constitution.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement 11 are correct
(2) Both Statement [ and Statement 11 are incorrect
(3) Statement [ is correct but Statement II is incorrect
i(4) Statement [ is incorrect but Statement 11 is correct
(1) 1
(2) 2
(3) 3
(4) 4
fa g A Fum E

Faq 1:  HEEIGERT § AEE A9, wEaaa, FEEa i =tw F i a getaa it @ 2 S
T wfaam W smiE wefage § Tl 2 o awa § = ga vEdE )
wuq I1: =g ufoamn wfaum & sig=ag 21 8 989 2

ITME F9 & A 4, 94 Gu 7 Twmed #§ 3 999 I0gE I w99 Fif

(1) =9 1 =R 1597 o &
(2) A 1 11 ZHT e &
(3)  wu= [ =d 8, st &y 1 Ted 8
(4)  ®ua 1o 8, Afd o= 1198 2

(1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=10401]
2[Option ID=10402]
3[Option ID=10403]
4[Option ID=10404]

Sl. No.77
QBID:1021052

Given below are two statements :

Statement [ 1 Human trafficking has become a serious global issue of unforeseen
proportions of the twenty-first century.

Statement [I: Trafficking in Human Beings or Persons is prohibited under the Constitution
of India under Article 23(1).

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement I are correct
(2) Both Statement [ and Statement I1 are incorrect
(3) Statement [ 1s correct but Statement I1 1s incorrect
(4) Statement [ is incorrect but Statement I1 1s correct
(1) 1
(2) 2
(3) 3
(4) 4
H= g e Ru o -

w1 AHE AR ThEEl 5e & AN Al & THR 3fvas q9eg # e

w1 [1:  =AfFa A9a 99 FoR 9RAE S % sigees 23(1) F s g 2

I FYA & AT 7, A= G 0 fedl § § He9E 3uge I 999 it

(1) = 130 [ EH 981 8
(2)  FuA 1R [ ZH 7o &
(3)  FuF [ oE 2, e %99 [ e 7
(4) %= 1 7o &, witT wee 11898 &

(1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=10405]
2[Option ID=10406]
3[Option ID=10407]
4[Option ID=10408]

Sl. No.78
QBID:1021053

Match List I with List II
List 1 List IT
(A) Sociological (Il Howard Becker
(B) Positive (II) Sigmund Freud
(C) Psychological (I} Cesare Lombroso
(D) Labeling (IV) Edwin Sutherland

Choose the correct answer from the options given below :

[=

(

(2

) (A)-(IID), (B)-(D), (C)-(ID), (D)-(IV)
) (A)-(ID), (B)-(IV), (C)-(D, (D)-(111)

(3) (A)-(IV), (B)-(I1D), (C)-(1L), (D)-(1)
)

(4 (A)-(D), (B)-(111), (C)-(IV), (D)-(1T)
(1) 1
(2) 2
(3) 3
(4) 4
= 1% @ 7=t 11 1 e fifsw
Tt FHIT
(A) THTIE (D ¥Es 39
(B) TFERTHF (I forvs wigs
(C) wAEIS (IIT) ier il
(D) A= (Safe) (IV) usfm gawrs

Hr= feu T foereal ® & G 39 1 =994 Fifu

(1) (A)-(IID), (B)-(D), (O)-(ID), (D)-(IV)
(2) (A)-(I), (B)-(IV), (C)-(I), (D)-(I1I)
(3) (A)-(IV), (B)-(III), (C)-(ID), (D)-(T)
(4) (A)-(D), (B)-(I1D), (C)-(IV), (D)-(IL)

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=10409]




2[Option ID=10410]
3[Option ID=10411]
4[Option ID=10412]

Sl. No.79

QBID:1021054
Match List I with List IT

List I

List IT

A)
B)
C)
D)

(
(
(
(

Social Disorganisation Theory
Concentric Zone Theory
Broken Windows Theory
Differential Association Theory

Iy Sutherland

(II) Shaw and McKay

(IIT) Wilson and Kelling

(IV) Robert E. Park and Ernest Burger

Choose the correct answer from the options given below :

(1) (A)-(1IT), (B)-(I), (C)-(II), (D)-(IV)
(2) (A)-(II), (B)-(IV), (C)-(I1I), (D)-(T)
(3) (A)-(I), (B)-(1I). (C)-(I1I), (D)-(IV)
(4) (A)-(I), (B)-(ILD), (C)-(IV), (D)-(ID)
(1) 1
(2) 2
(3) 3
(4) 4
=t 1% g 7=t 11 &1 e Hifsw
-1 Eeigt
(A) Tt e fagm (I) FeEws
(B) @1 ¥i=w fagm (II) = 3 &
(C) W vea Tagm (a6 &1 =mift) | (10D foemm i &fem
(D) faies o= oz (IV) T 3k ofit e o
Hrar feu o foepeai @ @ wEt I == il
(1) (A)-(I10), (B)~(T), (C)-(IL), (D)-(IV)
(2) (A)-(ID), (B)-(IV), (C)-(IIT), (D)-(I)
(3) (A)-(I), (B)-(I1), (C)~(I1L), (D)-(IV)
(4) (A)-(I), (B)-(III), (C)-(IV), (D)-(1I)
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=10413]
2[Option ID=10414]
3[Option ID=10415]
4[Option ID=10416]

Sl. No.80




QBID:1021055

Match List [ with List II
List I List II
(A) The Prisons Act I 2022

(B) The Transfer of Prisoners Act (ITYy 1950

(C) The Prisoners (Attendance in (I1T) 1894
Courts) Act

(D) The Criminal Procedure (IV) 1955
(Identification) Act

Choose the correct answer from the options given below :

[

(1) (A)-(I1D), (B)-(II), (C)-(IV), (D)-(D)

(2) (A)-(1), (B)-(I), (C)-(11D), (D)-(IV)

(3) (A)-(IV), (B)-(ID), (C)-(11I), (D)-(D)
)

(4 (A)-(D), (B)-(II), (C)-(I1I), (D)-(IV)
(1) 1
(2) 2
(3) 3
(4) 4
gt 1% @ 1=t 11 =1 faem Fifi
-1 -1
(A) Frmm wfafEm @ 2022
(B) =t s{amor wfufEs (I0 1950
(C) =& (=amarern @ sufeafa) sifufem | (11D 1894
(D) 2= ufsra (veam) sifafem (IV) 1955
I feu mu fawedi § O T I = == Fifew -

(1) (A)-(I1D), (B)-(1I), (C)-(IV), (D)-(I)
(2) (A)-(ID), (B)-(D), (C)-(1IL), (D)-(IV)
(3) (A)-(IV), (B)-(II), (C)-(I1D), (D)-(T)
(4) (A)-(D), (B)-(1T), (C)-(11L), (D)-(IV)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10417]
2[Option ID=10418]

3[Option ID=10419]
4[Option ID=10420]

Sl. No.81
QBID:1021056




Match List [ with List 11

(C)

(D)

Domestic Violence Act

The Sexual Harassment of Women at
Workplace (Prevention, Prohibition
and Redressal) Act

The Protection of Human Rights Act

List I List II
(A) The Scheduled Castes and the () 1993
Scheduled Tribes (Prevention of
Atrocities) Act
(B) The Protection of Women from (II) 2013

(IIT) 2005

(IV) 1989

Choose the correct answer from the options given below :

(1)
(2)

(A)-(D), (B)-(II), (C)-(11D), (D)-(IV)
(A)-(IV), (B)-(I1T), (C)-(I1), (D)-(D)

(3) (A)-(II), (B)-(IID), (C)-(D), (D)-(IV)
(4) (A)-(IV), (B)-(ILL), (C)-(I), (D)-(II)
(1) 1
(2) 2
(3) 3
(4) 4
gt 1 % @ 7=t 11 =1 faem Sifs
I 11
(A) rEET i S ST S (I 1993
(=tearam fam) sifufm
(B) =i @ wfgen wam sifufem ) 2013
(C) wigensil =1 wEeel W e Iedied (III) 2005
(Framon, wfeme s wfewm) sfufm
(D) wHafaHR aaw stafmEm (IV) 1989
Hr feu o foepedi @ & @Et I @ ==A i
(1) (A)-(I), (B)-(IL). (C)-(I1D), (D)-(IV)
(2) (A)-(IV), (B)-(ILD), (C)-(IT), (D)-(I)
(3) (A)-(IT), (B)-(ILT), (C)-(D), (D)-(IV)
(4) (A)-(IV), (B)-(IID), (C)-(T), (D)-(IT)
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=10421]
2[Option ID=10422]
3[Option ID=10423]
4[Option ID=10424]




Sl. No.82

QBID:1021057

Match List I with List II
List 1 List IT
(A)  Actus Reus (I} Guilty Mind
By Mens Rea (IT) Ewil or wrong in itself
(C) Mala Prohibita (III} Wrong because they are prohibited
(D) Mala in se (IV) Guilty Act

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(I), (C)-(11I), (D)-(I)
(2) (A)-(I), (B)-(II), (C)-(I1I), (I)-(IV)
(3) (A)-(IV), (B)-(II), (C)-(I), (D)-(I1I)
(4) (A)-(1I), (B)-(D), (C)-(IV), (I)-(IIT)
(1) 1
(2) 2
(3) 3
(4) 4
Tt 1% =g = 11 =1 fiem fifsg
I =11
(A)  wEeH fom () =t afeass
(B) = fram () === 5 905 =1 o™
(C) wTem Hiftegfeer (IIT) et & =it o fafug &
(D) #enFH (IV) =t e
Frar feu o et @ & @E I W =9 i
(1) (A)-(IV), (B)-(I), (C)-(ILL), (D)-(IL)
(2) (A)-(I), (B)-(IT), (C)-(I1I), (D)-(IV)
(3) (A)-(IV), (B)-(II), (C)-(I), (D)-(III)
(4) (A)-(ID), (B)-(I), (C)-(IV), (D)-(I1I)
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10425]
2[Option ID=10426]
3[Option ID=10427]
4[Option ID=10428]
Sl. No.83

QBID:1021058




Match List I with List 11

List 1 List 11

(A) Offence against human body (' The Indian Penal Code

(B) First Information Report (FIR) | (I} The Juvenile Justice (Care and
Protection of Children) Act

(C) Domestic Violence (IT1T} The Protection of Women from
Domestic Violence Act 2005
(D) Child Welfare Committee (IV) The Criminal Procedure Code

Choose the correct answer from the options given below :

) (A)-(D), (B)-(IV), (C)-(I1L), (D)-(IL)
) (A)-(IV), (B)-(I11), (C)-(ID), (D)-(T)
(3) (A)-(11D), (B)-(I), (C)-(IV), (I)-(IL)
) (A)-(IV), (B)-(I), (C)-(1I), (D)-(1IL)

Tt 1 % | g=t 11 =1 faem Sif

-1 i1
(A) WH4E THR & fawg ooy () wWdAE 58 dfgan
(B) vy gun g (% o am) | () foFem = (= 6 ged

3T Hrego) sifafaem

(C) =i fEmm () =t féam & wfeen woem
wiffam, 2005

(D) el e gt (IV) < wfsean afean

Hi= fou o et ® © wE IO 1 =9 it

(1) (A)-(D), (B)-(IV), (C)-(I1I), (D)-(1I)
(2) (A)-(IV), (B)-(I1T), (C)-(1D), (D)-(D)
(3) (A)-(ILD), (B)-(D), (C)-(IV), (D)-(1I)
(4) (A)-(IV), (B)-(I), (C)-(1I), (D)-(1IL)
(1)
(2)
(3)
(4)

A W N =

1[Option ID=10429]
2[Option ID=10430]
3[Option ID=10431]
4[Option ID=10432]
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Match List I with List II

List I List 1T
(A) Terrorism attack h CBI
(B) Drug trafficking (Ily ED
(C) Money Laundering (IIT) NIA
(M  Corruption (IVy NCB

Choose the correct answer from the options given below :

(1) (A)-(1T), (B)-(I), (C)-(I1D), (D)-(IV)
(2) (A)-(D), (B)-(II), (C)-(11D), (D)-(IV)
(3) (A)-(I), (B)-(ILD), (C)-(IV), (D)-(1I)
(4) (A)-(IID), (B)-(IV), (C)-(ID), (D)-(T)

(1) 1

(2) 2

(3) 3

(4) 4

gt 1% | gt 1 =1 faem i

-1 Tfi-11

(A) ATEeRl A () o e
(B) W& Tl &I geIR am $&
(C) g-3meA (IIT) w3 T
(D) wW==ER (IV) uA ot i
Hi= fou mu faweal § 9 @ 39 F1 =994 Hifu

(1) (A)-(ID), (B)-(I), (C)-(11I), (D)-(IV)

) (A)-(D), (B)-(II), (C)-(11D), (D)-(IV)
(3) (A)-(D), (B)-(ILI), (C)-(IV), (I)-(IL)
(4) (A)-(I1I), (B)-(IV), (C)-(1), (D)-(I)

9

—

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10433]
2[Option ID=10434]

3[Option ID=10435]
4[Option ID=10436]

Sl. No.85
QBID:1021060




Which among the following 1s a form of Human Trafficking?

(1) Property offence (2)  Organized crime
(3) Economic offence (4) Hate crime

(1) 1
(2) 2
(3) 3
(4) 4

ra gearw Frefafaa st § @ G v @ 27
(1) |9\ HwE (2) wfea AWy
(3) =i s (4) =9 Y

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10437]
2[Option ID=10438]

3[Option ID=10439]
4[Option ID=10440]

Sl. No.86
QBID:1021061

Which among the following crime is dealt by section 375 of IPC?

(1) Buying minor for prostitution (2) Kidnapping
(3) Rape (4) Abduction

(1) 1
(2) 2
(3) 3
(4) 4

YA 52 Hizal F1 G 375 AT 9 9 ey e 2

(1) FTAEN 7 TFEE W FA (2) 9w

(3) =TT (4) AT FAT (HATSHH)
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=10441]

2[Option ID=10442]

3[Option ID=10443]
4[Option ID=10444]

Sl. No.87
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What is the minimum age for boys and girls for marriage in India?

(1) 18 years for both (2) 21 years for bovs and 18 years for girls

(3) 21 years for girls and 18 years for bovs (4) 21 years for both

(1) 1
(2) 2
(3) 3
(4) 4

wTA | faame o 9 @ sl i =Ead g @ Ao
(1) = % fag 18 =
(2) =i = faw 21 99 it sl & o 1s
(3) s & o 21 99 i g+ & o 18 a9
(4) = % fag 21 =

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10445]
2[Option ID=10446]

3[Option ID=10447]
4[Option ID=10448]

Sl. No.88
QBID:1021063

Which among the following issues are dealt by the NGO Amnesty International?

(1) Human Rights (2) Crimes against women
(3) Crimes against children (4) Crimes against elderly
(1) 1
(2) 2
(3) 3
(4) 4
UHHES 3EATHAS A T sl e Hefefiaa 4 | fead gatua g 7
(1)  FEES=R (2) wfEens F fGwg wwy
(3) =TTl % THeg =90y (4) Fgi + g g
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=10449]
2[Option ID=10450]




3[Option ID=10451]
4[Option ID=10452]

Sl. No.89
QBID:1021064

Where was the first women police station established in India?

(1) Bengaluru (2) Mumbai
(3) Calicut (4) Kolkata

(1) 1
(2) 2
3) 3
(4) 4

WA H FEvYw Aieen Ife@ 9 (HF gfeE w29) a1 s gen v
(1) e (2) ¥=%

(3) el (4) HierRmE

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=10453]
2[Option ID=10454]

3[Option ID=10455]
4[Option ID=10456]

Sl. No.90
QBID:1021065

Juvenile Justice Board is chaired by
(1) Judge (2) Principal Magistrate
(3) Child Welfare Officer (4) Special Juvenile Police

(1) 1
(2) 2
3) 3
(4) 4

(1) =i (2) UHE Atz

(3) & FEmm stawd (4) fem e gfem
1) 1

) 2

3) 3

4) 4

1[Option ID=10457]
2[Option ID=10458]




3[Option ID=10459]
4[Option ID=10460]

Sl. No.91
QBID:1021066

Which article of Indian Constitution mentions the Right to freedom of opinion and expression?

(1) 19 (1) (a) (2) 20(1)
(3) 15 (1) (4) 30(2)

(1) 1
(2) 2
(3) 3
(4) 4

wd 9 Afeafa 1 waaa w1 AfyEn wwdE Glaam & G aees § sfeafaa & 7

(1) 19 (1) (a) (2) 20(1)
(3) 15 (1) (4)y 30(2)

1)1
(2) 2
(3) 3
4) 4
1[Option ID=10461]
2[Option ID=10462]

3[Option ID=10463]
4[Option ID=10464]

Sl. No.92
QBID:1021067

Juvenile homes are meant for

(1) Individuals above 18 years of age who do not have guardian
(2) Residential schooling
(3) Children in need of care and protection

i(4) Children in conflict with law

(1)
(2)
(3)
(4)

A W N =

o 7z frfafes § & fes o 2 27

(1) 18 =% 1 99 ¥ TW % o =A% 576 AT99=F T8 =7
(2)  amaEEE o

4y fatu ez a=

(1) 1




(2) 2
3) 3
(4) 4
1[Option ID=10465]
2[Option ID=10466]

3[Option ID=10467]
4[Option ID=10468]

Sl. No.93
QBID:1021068

Which article of Indian Constitution provides the Right to life. liberty and security of person?

(1) Article 51 (2) Article 41
(3 Article 31 (4) Article 21
(1) 1
(2) 2
(3) 3
(4) 4

AT A9 * R W A= A9, A U9 I i GUE 1 AR g A 8 7

(1)  =9=a7 51 (2) 3=oE 41
(3)  ¥g=97 31 (4) 3H=9g 21
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=10469]
2[Option ID=10470]
3[Option ID=10471]
4[Option ID=10472]

Sl. No.94
QBID:1021069

Juvenile Justice (Care and Protection of Children) Act, 2015 was introduced for the

(1) Children in conflict with law

(2) Child in need of care and protection
(3) Both (1) and (2)

(4) Adults
(1) 1
(2) 2
(3) 3

(4) 4




TereTR = (sTerR =i s S i) wtatEE, 2015 1 g Fetangd 3 9 e fee e e

1) faf R ae B R

(2)  TEE 3 S S AETEEAl 9T Gl F e
(3 (1) = (2) g
(4)  =TFEF F =0

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=10473]

2[Option ID=10474]

3[Option ID=10475]
4[Option ID=10476]

Sl. No.95
QBID:1021070

Salami attack is a form of

(1) Environmental crime (2) Cyber crime

(3 Cheating {4) Crime against state

(1) 1
(2) 2
(3) 3
(4) 4

gandt stew Tafafiaa # & e sty =1 v 87

(1)  woleRviE 90y (2) wTEE FJ9OY
(3) g (4) 19 % fwz Ay

11
(2) 2
3) 3
4) 4
1[Option ID=10477]
2[Option ID=10478]

3[Option ID=10479]
4[Option ID=10480]

Sl. No.96
QBID:1021071




Given below are two statements :
Statement I:  The CBI 1s headed by Chief Commissioner.
Statement II: The headquarter of CBI 1s located in Pativala.

In the hght of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement IT are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but Statement II 1s incorrect
(4) Statement I 1s incorrect but Statement II 1s correct
(1) 1
(2) 2
(3) 3
(4) 4
dr= 51 e feg o #

wo 1: ot oft and S e g ST 9 8

w11 : ot =18 =1 e aferen |§ sEfedm 2

IFIF F9A *F AAF |, 99 e v et § ¥ of 3 % 9w Hifau

(1) Fug [N A1 a9 &
(2) F9 1 3 [ 21 =39 2
(3) Fu [ °eq &, e Fo [ 399 &

(4) F99 | 30w 2, A Fa9 [[ 99 &

1)1
(2) 2
3) 3
4) 4
1[Option ID=10481]
2[Option ID=10482]

3[Option ID=10483]
4[Option ID=10484]

Sl. No.97
QBID:1021072




Which of the following is the largest prison in India?

(1) Chennai Prison (2) Calicut Prison
(3) Tihar Prison (4) Arthur Prison

(1) 1
(2) 2
(3) 3
(4) 4

aE Fi gad 9w fefafaa A 4 s 27

(1) =3 FHR (2) ieAtahe HAAH
(3)  TagEs *AH (4) =¥ FROH

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10485]
2[Option ID=10486]

3[Option ID=10487]
4[Option ID=10488]

Sl. No.98
QBID:1021073

The NDPS Act deals with

(1) Medicines (2) Weapons
(3) Jewels (4) Drugs

(1) 1
(2) 2
(3) 3
(4) 4

w7 g ft v (NDPS) atfafm f=fafaa & gefia 2

(1) 11 (2) =fEr
(3) s (4) wEE =

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10489]
2[Option ID=10490]

3[Option ID=10491]
4[Option ID=10492]

Sl. No.99
QBID:1021074




Given below are two statements : One 12 labelled as Assertion A and the other 1z labelled as

Reason R.
Assertion (A): A confession made before the police 18 admissible in the court of law
Reazon (R) : A confession made before the magistrate 1s admissible in the court of law

In the hight of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A) 1= true but (R) 1s false

(4) (A) 1s false but (R) 1s true

H= 31w f3U U 2 : UF shiEeA (Assertion (A)) % ®9 # fafEd @ 91 g90 39% F0 (Reason (R))
%Wﬁ

Al (A) ufera & Tma 61 T =i e § 7 () w6 g

0 (R) : ufaz % gue i 78 =fwnifF = § mEd g6t 2

ITIT F9 F A °, A fZu mu fwedi 8§ w6 3w w539 Fifaw
() (A) ¥R (R) 3+ & # sit (R), (A) Fi @t =aren 2

(2)  (A) iR R) ZH & &, ol (R), (A) 1 =l =amen 4 &
(3)  (A) " g, wifA (R) 3767 &

(4) (A) 3@ &, oifea (R) 5ea &

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=10493]
2[Option ID=10494]

3[Option ID=10495]
4[Option ID=10496]




Sl. No.100
QBID:1021075

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A) :  The primary duty of the police is the enforcement of law of the land.

Reason (R) : The power of superior police officer is mentioned in Code of Criminal

Procedure, 1973.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

(1) 1
(2) 2
3) 3
(4) 4

=t 21 #ua f3u mu 2 : v IfiEeA (Assertion (A) % ®1 # fafaa 2 91 g0 39% FW0 (Reason (R))
FETH :

AR (A) e =1 Wi Fea o % HA F a6 ¢

0 (R) : aftss gfer sttt & oifFa 45 wiEFEn |@fem, 1973 7 sfeafam 21

IFF F9E &+ A 5, 99 2o fGweat § @ 98 3w = =959 fifag

(1)  (A) 3 (R) 31 79 & 3 (R), (A) 1 vt =amen 2

(2) () R (R) I | &, a6 (R), (A) Fi w& =am=n & 7

(3) (AT &, 9fe (R) 3w 8

(4)  (A) 3@ g, = (R) o1 &

(1) 1
(2) 2
3) 3
4) 4
1[Option ID=10497]
2[Option ID=10498]

3[Option ID=10499]
4[Option ID=10500]







